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I8 rind the integral of the vector field

-y x :
G(x, yJ = _"—‘—xz T yz’x"—__z & y2 .

(a) Along the line x + y = 1 from (0, 1) to (1, 0).

%j (b) From the point (2,0) to the point (— 1,\/5) along the path shown on
% the figure.
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F ;f'. Integrate the function f over the indicated region.

. (a) f(x, ) = 1/(x + y) over the region bounded by the lines y=x x=1,
: x=2,y=0.
= (b) f(x,y)=x*— y* over the region defined by the inequalities

T

0=x<1 and x2-—)%2z0.

(©) f(x,y) = xsin xy over the i‘ectangle 0=x=mand 0=y=1.

(d) f(x,y) =x*>—3* over the triangle whose vertices. are (—1,1), (0,0),
(1, 1). .

- (@) fGyy)=1/(x+y+1) over the square 0 = x<1,0sy=<1.

29, Compute the integral of the function F(x, ) = xy over the region sketched

below.
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